Projectile Motion
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1. Predict the trajectory of the cannon ball after it leaves the cannon in each trail, then sketch in its actual trajectory after the demonstration
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Describe the shape of the trajectory of the cannon ball

AL parabolic

Conclusions:
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3. An airplane must drop a rescue package to a person stranded on a desert island. In which position should the airplane be when it
drops the package? Sketch the trajectory of the package as it drops
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If you were in the airplane watching the package drop from above, how would you describe the trajectory of the package?
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4. A sailor drops a ball from the top of the mast of a ship sailing to the right at a constant speed.

a) Where does it land? ba ¢ OF f%& rna ‘Si'
b) Describe the ball’s trajectory as seen by the sailor. ji’rdl(&[qll' C,[OUJ o

c) Describe the ball’s trajectory as seen by an observer on the Shore. Sketch it below.
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Conclusion:

Horizontal Motion
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5. A car fires a flare straight upward while traveling at a constant speed. Sketch the position of the flare at each instant.
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Horizontal Projectiles

Ball A is dropped over the edge of the cliff. Ball B is shot

R - horizontally from the same height at'SO m/s.| Ball C can be
: C imagined to be the path of ball B if gravnty were “turned off.”
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1. If it takes both balls 4.0 seconds to hit the ground, determine:

a) the height of the cliff,
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b) the distance from the base of the cliff that ball B lands.




d) Sketch in the trajectory and the displacement of ball B,

e) Sketch in the instantaneous velocity vectors for ball B at each instant as well as its horizontal and vertical component velocities.
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